
Wave III Section 18: Compiling a Table of Pregnancies

Number of observations: 7,422

Romantic relationship number RRELNO num 2

7,422 range 1 to 48

Relationship pregnancy number RPREGNO num 1

7,422 range 1 to 8

1. Next, please indicate the outcome of this pregnancy by selecting the
appropriate response. If the pregnancy involved more than one baby, and
all had the same outcome, indicate that outcome�for example, a
pregnancy involving twins who were both live births should be coded as
live birth.

H3TP1 num 1

1,022 1 misscarriage

1,287 2 abortion

186 3 signle, stillbirth

4,160 4 live birth

536 5 pregnancy not yet ended

30 6 multiple, no live birth

173 7 multiple, involving both a live birth and another outcome

28 . missing

2M. Please indicate the month (and year) in which this pregnancy ended or is
expected to end�the due date. If you are not sure of an ending date, enter
your best guess.

H3TP2M num 2

613 1 January

620 2 February

611 3 March

615 4 April

629 5 May

721 6 June

572 7 July

658 8 August

661 9 September

576 10 October

560 11 November

555 12 December

31 . missing



2Y. Please indicate the (month and) year in which this pregnancy ended or is
expected to end�the due date. If you are not sure of an ending date, enter
your best guess.

H3TP2Y num 4

3 1977 1977

1 1978 1978

1 1979 1979

1 1980 1980

1 1981 1981

1 1987 1987

1 1988 1988

1 1989 1989

6 1990 1990

4 1991 1991

23 1992 1992

59 1993 1993

144 1994 1994

360 1995 1995

526 1996 1996

760 1997 1997

942 1998 1998

1,221 1999 1999

1,385 2000 2000

1,462 2001 2001

450 2002 2002

70 . missing

3. Please indicate how many babies were born alive. For example, for twins
who were both born alive enter 2, for twins of whom only one was born
alive enter 1, for triplets who were all born a live enter 3, for a single birth
enter 1.

H3TP3 num 2

4,055 1 1 live birth

133 2 2 live births

34 3 3 live births

4 4 4live births

0 5 5 live births

2 6 6 live births

3,089 97 legitimate skip

105 . missing


